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1. The base of a prism is an equilateral triangle

of perimeter 15 centimetres and its height is 5

centimetres. Calculate its volume.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9RQ71III88Ho

° Watch Video Solution

2. A hexagonal hole of each side 2 meters is
dug in the school ground to collect rain water.
It is 3 meters deep. It now has water one

meter deep. How much liters of water is in it?

o Watch Video Solution

3. A hollow prism of base a square of side 16

centimeters contains water 10 centimeters


https://dl.doubtnut.com/l/_9RQ71III88Ho
https://dl.doubtnut.com/l/_LVGLi0fwLhZ3
https://dl.doubtnut.com/l/_NcFD45bi7euR

high. If a solid cube of side 8 centimeters is
immersed in it, by how much would the water

level rise?

o Watch Video Solution

4.The base of a prism is an equilateral triangle
of perimeter 12 centimetres and its height is 5

centimetres. What is its total surface area?

o Watch Video Solution



https://dl.doubtnut.com/l/_NcFD45bi7euR
https://dl.doubtnut.com/l/_kpKA9RJE8jWH

5. Two identical prisms with triangle as base
are joined to form a rectangular prism as

shown below:What is its total surface area?

o Watch Video Solution

6. A water trough in the shape of prism has
trapezoidal faces. The dimensions of a base
are shown in this picture:
'(##VPU_HSS_MAT IX_C11 EO2 003 QO1##)’

The length of the trough is 80 centimetres. It


https://dl.doubtnut.com/l/_9BMiZ3CcFb5R
https://dl.doubtnut.com/l/_Lu7ayVJ7Yjln

is to be painted inside and outside. How much
would be the cost at 100 rupees per square

metre?

o Watch Video Solution

7. The length of the trough is 80 centimetres.
It is to be painted inside and outside. How
much would be the cost at 100 rupees per

square metre?

° Watch Video Solution



https://dl.doubtnut.com/l/_Lu7ayVJ7Yjln
https://dl.doubtnut.com/l/_DXdF9jO956L1
https://dl.doubtnut.com/l/_Q91SPr8WExgB

8. The base edge of a regular hexagonal prism
is 6cm and height is 10cm :

a) Find its base area and lateral surface area.
b) Find its total surface area.

c) 'Find its volume.

o Watch Video Solution

9. A plastic water tank in a place in the shape
of a rectangular prism' with length 6 metre.
Breadth 4m and depth 3m. There is water at a

height of 1m in this tank.


https://dl.doubtnut.com/l/_Q91SPr8WExgB
https://dl.doubtnut.com/l/_aPDMA5nPCRFZ

a) How many liter of water in it?

b) How many litres of water needed. to fill the

tank?

o Watch Video Solution

10. The length, breadth and height of a
rectangular prism are respectively 10 cm, 6cm
and 20cm How many unit cubes (cubes of side

lem ) can be cut off from it?

° Watch Video Solution



https://dl.doubtnut.com/l/_aPDMA5nPCRFZ
https://dl.doubtnut.com/l/_jRXWxqrpFfDM
https://dl.doubtnut.com/l/_PzfVzNSflh3H

1. A water tank is in the shape of a
rectangular prism. It has length 2m breadth
1m and height 50cm. There

a) Find its volume.

b) What is your suggestion to double its

volume?

o Watch Video Solution

12. The height of prism, with base perimeter

20cm and base area 30cm? is 8cm.


https://dl.doubtnut.com/l/_PzfVzNSflh3H
https://dl.doubtnut.com/l/_Dlon3ygfTzA7

a) Find its lateral surface area.

b) Find its total surface area.

° Watch Video Solution

13. The diagram shows a prism which is cut
and laid flat.'

a) Write the suitable name of the base of the
prism.

b) Find the perimeter and area of the base.

c) Find the volume of the prism.

o Watch Video Solution



https://dl.doubtnut.com/l/_Dlon3ygfTzA7
https://dl.doubtnut.com/l/_sSSYo0PeoNHV

14. A water tank in the shape of a prism has
isosceles  trapeziums as bases whose
dimensions are shown below.
'(##VPU_HSS_MAT IX_C11_EO3_007 QO1##)’

The length of the tank is 80 centimetres. How

many litres of water can it contain?

o Watch Video Solution

15. The volume of a' square prism is 3600 cubic

centimetres and its base area is 144 square


https://dl.doubtnut.com/l/_sSSYo0PeoNHV
https://dl.doubtnut.com/l/_TZedXsayrzPc
https://dl.doubtnut.com/l/_MPOL4DaLbGrj

centimetres. What is its surface area?

o Watch Video Solution

16. The base radius of an iron cylinder is 15
centimetres and its height is 32 centimetres. It
is melted and recast into a cylinder of base
radius 20 centimetres. What is the height of

this cylinder?’

o Watch Video Solution



https://dl.doubtnut.com/l/_MPOL4DaLbGrj
https://dl.doubtnut.com/l/_Lm8ImrPRz8Ut

17. The base radii of two cylinders of the same
height are in the ratio 3:4. What is the ratio

of their volumes?

o Watch Video Solution

18. The base radii of two cylinders are in the
ratio 2: 3 and their heights are in the ratio
5:4.

i) What is the ratio of their volumes?

i) The volume of the first cylinder is 720


https://dl.doubtnut.com/l/_JExgdPGKlMeU
https://dl.doubtnut.com/l/_Pe4PsAAuuwu9

centimetres. What is the volume of the

second?

° Watch Video Solution

19. The inner diameter of a well is 2.5 meter
and it is 8 meters deep. What would be the
cost of cementing its inside. at 350 rupees per

square meter?

o Watch Video Solution



https://dl.doubtnut.com/l/_Pe4PsAAuuwu9
https://dl.doubtnut.com/l/_jaRTx1uHx7Bb

20. The diameter of a road roller is 80
centimetres and it is 1,20 metres long:
What is the area of levelled surface, when it

rolls once?

° Watch Video Solution

21. The base area and the curved surface area
of a cylinder are equal. What is the ratio of the

base radius and height?

° Watch Video Solution



https://dl.doubtnut.com/l/_wtPZ1gl1SXO8
https://dl.doubtnut.com/l/_2QST7XW5uVKR

22. What is the area of the curved surface of a
cylinder of base radius 4 centimetres and.

height 10 centimetres?

o Watch Video Solution

23.The inner diameter of a well 2.5 metres and
it is 8 metres deep. What would be the cost of
cementing its inside from the top to a depth
2— metres at the rate of 350 rupees per

2

square metre?


https://dl.doubtnut.com/l/_2QST7XW5uVKR
https://dl.doubtnut.com/l/_jXrbOweODN80
https://dl.doubtnut.com/l/_OO7yBg1p77Wc

° Watch Video Solution

24. The tent for an exhibition is as shown
below, with a half - cylinder on top of a
rectangular prism.

What is the cost of making it, at the rate of

2000 rupees per square meter?

° Watch Video Solution



https://dl.doubtnut.com/l/_OO7yBg1p77Wc
https://dl.doubtnut.com/l/_vnk5gceeIc23

25. The figure of a plaster roll is given below.
The radius of its base is bem and height is
8cm. We have to make a cylindrical tin case in
which this plaster roll cain be inserted
accurately. How many such cylinders can be
made from a rectangular tin sheet having a
length of 1,6 metre and breadth 32cm ?

'(##VPU_HSS_MAT IX_C11 E06 004 QO1##)’

o Watch Video Solution



https://dl.doubtnut.com/l/_EOd96ftMqJtB

26. What is the volume of a cylinder of base
radius 4 centimetres and height 20

centimetres?

o Watch Video Solution

27. A block of wood in the shape of a square
prism has the sides of its base. 10 centimetres
long and it is 20 centimetres high. What is the
volume of the largest cylinder that can be

carved out from it?

| & I


https://dl.doubtnut.com/l/_Lp7u1e1izXrz
https://dl.doubtnut.com/l/_XHCEyfxznsHN

| ¥ Watch Video Solution |

28. The base radius of an iron cylinder is 15
centimetres and its height is 32 centimetres. It
is melted and recast into a cylinder of base
radius 20 centimetres. What is the height of

this cylinder?’

o Watch Video Solution

29. A solid metal cylinder is of base radius 18

centimetres and height 40 centimetres. By


https://dl.doubtnut.com/l/_XHCEyfxznsHN
https://dl.doubtnut.com/l/_ABekPZKdSnZI
https://dl.doubtnut.com/l/_Owwwm5Mt0E32

melting this down, how many cylinders of base
radius 2 centimetres. and height 5 centimetres

can be made?

° Watch Video Solution

30. Two rectangular sheets, each of sides 10
centimetres and 6 centimetres are rolled to
form cylinders, one along the longer edge 'and
the other along the shorter edge, to make two

cylindrical cans. Which.has the larger capacity?

° Watch Video Solution



https://dl.doubtnut.com/l/_Owwwm5Mt0E32
https://dl.doubtnut.com/l/_yjo3fOYuDREx

31. A rectangular piece of land is 32 meters
long and 24 meters wide. A rectangular pond 4
meters long, 3 meters wide and 1.5 metre
deep is dug in it. The dug up earth is spread
evenly in the plot itself. By how much does the

ground level of the plot rise?

o Watch Video Solution

32.In the newly constructed auditorium in the

school, there are 8 cylindrical shaped pillars of


https://dl.doubtnut.com/l/_yjo3fOYuDREx
https://dl.doubtnut.com/l/_3Y7arFbO3zus
https://dl.doubtnut.com/l/_Q6diD2dLCbc0

same size. Each pillar has a height of 4cm.
Dlameter of the pillar is 1 meter.

I. Find the curved surface area of a pillar.

ii. Find the curved surface area of 8 pillars.

ii. If it cost 160 rupees to paint one square

metre, how much will it cost?

o Watch Video Solution

33. A cylinder piece of wood has diameter 8cm
and height 15cm. A square prism of the same

height and side of the base 2cm is scooped


https://dl.doubtnut.com/l/_Q6diD2dLCbc0
https://dl.doubtnut.com/l/_cGfsGvsOAfL1

out from it. What is the volume of the

remaining piece?

° Watch Video Solution

34. A piece of wood in the shape of a square
prism has each side of the base 4cm long and
its height is 50cm. What is the maximum
volume of a cylinder that can be carved from

it?

° Watch Video Solution



https://dl.doubtnut.com/l/_cGfsGvsOAfL1
https://dl.doubtnut.com/l/_fZ3QvnbvEIB0
https://dl.doubtnut.com/l/_M3PRTJ08vyfr

35. The volume of a cylindrical vessel is 6838.
92 cu.cm and its height is 18cm. Find the area

of its curved surface, taking m = 3.14.

° Watch Video Solution

36. Two cylindrical cans of radii 15~cm, 10~cm
and heights 25~cm, 18~cm are filled with oil.
Both cans are emptied into another cylindrical
can and the oil level reaches 30~cm in. the

new can. What is the radius of the new can?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_M3PRTJ08vyfr
https://dl.doubtnut.com/l/_AQ1Jf8XlwRPL

37. Find the surface area of a cylinder of

volume 4487 cu.cm and height 7cm :

o Watch Video Solution

38. What is the height of a rectangular prism
of volume 7 litres, length 25¢m and breadth

20cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_AQ1Jf8XlwRPL
https://dl.doubtnut.com/l/_rCnIBcO82jIc
https://dl.doubtnut.com/l/_qDrtnaI8t6qU
https://dl.doubtnut.com/l/_wzoJ7I7ZL83C

39. A cylindrical vessel contains oil and when 3
litres of oil is removed from it, the level of oil
decreased by 10~cm. What is the radius of the

vessel|?

° Watch Video Solution

40. A copper block length 5¢cm, breadth 4cm
and thickness 2cm is melted and made into a
cylindrical rod of radius 2mm. What is the

length of the rod?

| €8 |


https://dl.doubtnut.com/l/_wzoJ7I7ZL83C
https://dl.doubtnut.com/l/_rB4ATkG0QGd4

| ¥ Watch Video Solution J

41. A tin in the shape of a rectangular prism of
dimensions 50~cm, 40~cm and 20~cm is full
of sugar, which is to be measured by a
cylindrical can of radius 4~cm and height
15~cm. How many xx must the measuring be
used to measure off the entire quantity of

sugar?

° Watch Video Solution



https://dl.doubtnut.com/l/_rB4ATkG0QGd4
https://dl.doubtnut.com/l/_vbgwPOA6Kwje

42.The ratio of the diameters of two cylinders
is 1: 2 and the ratio of the length is 3: 1. What

is the ratio of their volumes?

o Watch Video Solution

43. The base of a wooden prism is a regular
hexagon. Its base perimeter is 30cm and
height is 5¢cm.

a) What is the lateral surface area of the

prism?


https://dl.doubtnut.com/l/_Ij2qFQciohw1
https://dl.doubtnut.com/l/_CHpOghnmIK3m

b) If it is divided into 6 equal equilateral
triangular prisms, what will be the lateral

surface area of each triangular prism?

o Watch Video Solution

44. a) Radius of a cylinder is 10cm and its
height is bem. Find the base area and the
curved surface area of the cylinder.

b) The curved surface area of a cylinder is
equal to its base area and its height is 12cm.

What is its radius?

| e |


https://dl.doubtnut.com/l/_CHpOghnmIK3m
https://dl.doubtnut.com/l/_5eusdLYfTxfm

& Wwatch Video Solution I

45. Base area of a metallic triangular prism is
36 sq.cm and its height is 18cm.

a) What is its volume?

b) If it is melted and recast into a square prism

of base edge 2cm, what, will be its height?

° Watch Video Solution

46. The radii of two cylinders are in the ratio

2: 3 and their height are in the ratio 9: 4.


https://dl.doubtnut.com/l/_5eusdLYfTxfm
https://dl.doubtnut.com/l/_aF6krkKrC5xo
https://dl.doubtnut.com/l/_h4TW4HTflACq

a) What is the ratio of their. volume?
b) The radii of two cylinders are in the ratio
1:2. Find the ratio of their heights, if their

volumes are same.

° Watch Video Solution

47. Height of a wooden square prism is 20cm
and the length of a base edge is 10cm
.a). What is the volume?

b) What is the volume of the largest cylinder


https://dl.doubtnut.com/l/_h4TW4HTflACq
https://dl.doubtnut.com/l/_dgb7PPsBBgSa

that can be carved out from the above square

prims?

° Watch Video Solution

48. Height of a prism is 15cm. Its base is a
triangle and the perpendicular sides of the
triangle are of lengths 6¢m and 8cm.

a) What is the volume of the prism?

b) Find the lateral surface area of the prism.

° Watch Video Solution



https://dl.doubtnut.com/l/_dgb7PPsBBgSa
https://dl.doubtnut.com/l/_DcJDMMWBaUWj
https://dl.doubtnut.com/l/_RCecVumRsFHA

49, a) A water tank in the shape of a cylinder
contains water to a depth of 1 metre. Radius of
the cylinder is 2 metre and its height is 1
metres. How many litres of water is there in
tank? (m = 3.14, 1 cubic metre = 1000 litres)
b) How much more litres of water is required

to fill the tank completely?

o Watch Video Solution

50. Base perimeter of a square prism is 32 cm

and its height is 15cm. What is its lateral


https://dl.doubtnut.com/l/_RCecVumRsFHA
https://dl.doubtnut.com/l/_amDMyEWGQc0V

surface area? ’

o Watch Video Solution

51. The diameter and height of a cylinder are
equal. If the height is 18cm,
a) What is its radius?

b) Find the volume of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_amDMyEWGQc0V
https://dl.doubtnut.com/l/_93GMnCgARLMm

52. The diameters of two cylinders having the
same height are in the ratio 2: 3.

a) What is the ratio of their radii?

b) What is the ratio of their volumes?

c) If volumes of two cylinders having the same
height are in the ratio a : b, then what is the

ratio of their radif?

o Watch Video Solution



https://dl.doubtnut.com/l/_rAmMI8sqGitO

53. The perimeter of a triangular prism is
36cm. and lateral surface area is 720 sq.cm. If
the base is an equilateral triangle then,

a) What is the height of the prism?

b) Find the total surface area of the prism.

o Watch Video Solution

54. A solid rectangular prism is melted and
recast into a square prism of height 18cm. If

the length, breadth, and height of the


https://dl.doubtnut.com/l/_LIlsGkJVHquP
https://dl.doubtnut.com/l/_aI2yTiBpjXTy

rectangular prism are 15 cm., 10cm. and
27cm. respectively, then

a) What is the volume of the square prism?

b) What is the length of one base edge of the
square prism?

c) If the rectangular prism is melted and recast
in to cubes of height 1ecm, the number of

cubes will be...

° Watch Video Solution



https://dl.doubtnut.com/l/_aI2yTiBpjXTy

55.The base of a prism is a regular hexagon of
side 6¢m, its lateral surface area is 180,/3cm”
a) What is its base area?

b) What is its total surface area?

c) Without changing the height it is divided in
to 6 equal equilateral triangular prisms. What
will be the lateral surface area of one such

triangular prism?

o Watch Video Solution



https://dl.doubtnut.com/l/_4W3joR1LGBKB

56. The base area of a cylinder is 25 square
centimetres and Its volume is, 100 cubic
centimetres. What is the area of its lateral

surface?

° Watch Video Solution

57. The base perimeter of a prism is 25
centimeters and its height 20 centimetres.

What is the area of its lateral surface?

° Watch Video Solution



https://dl.doubtnut.com/l/_fX0jVNOoHTEH
https://dl.doubtnut.com/l/_TzwFeUHMXxeW

58. The base of a prism is a rectangle of sides 5
centimeters and 12 centimeters and its height
is 20 centimeters. It is split vertically along a
diagonal of the base into two triangular prism.
What is the lateral surface area of these

triangular prism.’

o Watch Video Solution

59. The base diameter of a metallic cylinder is

18 centimetres and its helght 24 centimetres.


https://dl.doubtnut.com/l/_TzwFeUHMXxeW
https://dl.doubtnut.com/l/_1gJNMOsuMK06
https://dl.doubtnut.com/l/_PBeVLWk8Ty5P

It is melted and recast into cylinders of base
diameter 12 centimetres and height 6
centimetres. How many such small cylinders

are got?

o Watch Video Solution

60. Of two cubes of sides 3 centimetres, orie is
split into two equal triangular prisms and the
pieces are joined to the other cube to make a

solid as shown in the figure. What is the


https://dl.doubtnut.com/l/_PBeVLWk8Ty5P
https://dl.doubtnut.com/l/_OHvviF9XOZ5k

surface area of the solid.

'(##VPU_HSS_MAT IX_C11 EO7 018 QO14##)’

° Watch Video Solution

61. The base perimeter of prism is 30
centimetres and its height is 20 centimetres.

What is the area of its lateral surface?

° Watch Video Solution



https://dl.doubtnut.com/l/_OHvviF9XOZ5k
https://dl.doubtnut.com/l/_ceaXH8bVxWNR

62. The perimeter of a triangular prism is
30cm and lateral surface are 360 sq.cm. If the
base is an equilateral triangle, then
a) What is the height of the prism?

b) Find the total surface area of the prism.

o Watch Video Solution

63. The diameter and height of a cylinder are

equal. If its height is 20~cm,


https://dl.doubtnut.com/l/_7yRryl1RrpQr
https://dl.doubtnut.com/l/_rNmI4ECztMAO

a) What is its radius?

b) Find the volume of the cylinder.

° Watch Video Solution

64. Base area of a metallic triangular prism is
24 sq.cm and its height is 16cm.

a) What is its volume?

b) If it is melted and recast into a square prism

of base edge 2cm, what will be its height?

° Watch Video Solution



https://dl.doubtnut.com/l/_rNmI4ECztMAO
https://dl.doubtnut.com/l/_2kxhKDrUHVSE
https://dl.doubtnut.com/l/_r0E2zjdJi7QI

65. The diameters of two cylinders having the
same height are in the ratio 1: 2.
a) What is the ratio of their radii?

b) What is the ratio of their volumes?

° Watch Video Solution



https://dl.doubtnut.com/l/_r0E2zjdJi7QI

